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i +DQR2+ 3 -T) BT R

i =7, a,=3, a;=1, a4=0, a3=—4, ay=1, a;=0,
ag=0,ay=—12,

R f0y=2(0)—(0)*43=3. .
J(=1D=2(—1)—(-1)24+3=-2-14+3=0,
f3)=2x38-3243=54_-9+3=48
f(8)=2%x8 —8+3=1024 - 64+ 3 =963,

F2: f(0)=(02—3%0+4+2)/(2x04+35)=2/5.

A== {(-R)F-3(—)+2 [{2(-2)4 5}
= {44642}/ {445} =12.

F(6) = (6*—3 X 642)/(2 X 645)
=(36—~1842)/(12 +5 =20/17.

6 BB FL=14V1+3=5.

7.

8.

f)=4+vV4 + 3 =9,
L ftsy=5+v5 +3=8+3 ‘
. fx-2)=2@-2)+3 =2r—4 +3=2x-1. -
farl+ 1) =20x?+ 1)+ 3 =2x" +2 + 3 =2x? +5.
fR: fC0,0)=10%+ 0 -0+ 8 =8.
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£(1,0)=134+1—-0+8 =10.

£(0,1)=084+0—1+8=".

F(1,1)=1341-1+8 =9,

(=2, =3) =(—2)%4(—2)—(—~3)+8
=—8—2+434+8=1

I %2 & & &
-4 iI
E&x$HINH
M 4dar?y & (—6az?y) + 5622y 4 (— 3bx?y)
= 4aidy —6ardy +5bxy — 3bxly
= —2axly+2bry = 223y (b —a). .
fB: (Ta®+2a—b%) + (3a+b?— 2a2) + (b2~ 42— 4a?)
=(7T-2—4)a*+ 2+4+3—4)a+(—1+4+141)6*
=a?ta+4b2 '
e 325z 46)4 (22422 —8)+ (— 422+ 3c—-7)
=@B+1—-4 224 (-5+2+3)z+(6—-8—7)=—9.

ARt (da®4a2b— 518, +<§a8— 6ab® —'aﬂb)+(§aﬂ+ 105')
+ (6b® — 15ab% — 4a%b — 10a8) '
=(4+93-+;§—10>a3+(1— 1—4)a% 4 (— 6—15)ab?

Je(—5+10+46)b% = — 4a® —4q2b —21ab®+ 1165
#: Batb—-c)—(4a—2b+6c)=3atb—c—4a+2b—6¢
=—a+3b—-"ec.
R (234 622+ 5)— (22— 5o+ 7) = 24 6224 5~ 222 4-52-7
=x34-4224 5 2.
fi2: (a4 b%) — (a34-5a2b) = e84’ —aP—5a%b = b(b?-5a?).
fig: (B4yd-6z+5y) - {(— 22— 6s+Ty—8)
+ (2% 4222 - 5y 4 9)}
=rd4yd - 645y — {1* - 6242y 41}
=284y3 - 624 5y—2°+ 0z~ 2y—1=¢y*+3y—1.
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9 fE: —(a+b)+{—a—(2a—b)} —6(a—4b)
=—a—-b—a—2a+b—6a+424b= —10a+ 24b.

10 @ 6r— {dx+ (22— (32452 +7~1)+3] 8}
=6r—4r—[2z—(3z45z+7 -1 +3])+8
=2r— 224 (3x+452+7—-1)— 348
=3z45z47-1-3+8=8z411. :

11. #2: 2a—[4a—c+ {3a—(4b—c)—(b+3c)} — 6]
=2a—[4a—c+ {3a—4b+c— b -3¢} —6c]
=2a¢—[da—c+3a—~4b+tc—b—3c—6c]
=2q—datc—2a+4b—c+ b4 3c+bc=—aF 2+

12, fg: z—-Tsz+(yrdz)]—[r—(By+22)]
=2—3r—y—08z—x+3y+2 =2y —4x—22.

13 f4: 2—-7— (P +8x+5)=2-7—2*—8z—5
=z —a?—-8x—12,

14 8 *+a—T— 12— 92243y =44 x-7- o 92— 3y
=y — By — a2t 9%t —17.

g2 & I
B ®INE
1 fg: 3o - 147 045
2- 31

6— 4—24+14—124°0
— 9464 3—2"4 815
3- 28— 14 T— 645
6-1347+15—34+35 2145
mer 627 — 132° 4 72f 1524 — 34084 852* — 212 + 5.
2. @R © 5-34 241
3—-1— 2
15— 94 643
—54 3—2-1
—-10+6—-4-2
15— 14 -147-5-2
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%0 15a% — 1dart — x84 7% — Satz - at
- 1—141-141-1
1+1
I-1+1-141-1
1—-141-141-1

14040+04+04+0—1

o 2% 5
7: 3--24+0+7
240—345
6440414
T —94 64 0-21

15— 104 0435
6—-4—-9435-10-21435
2 62% — 428 —9224+ 3518 — 1022 — 211435,
fi: (Tx—2y)(dr —5y) = 2822 —43zy+ 1042
fiz: (a®—axd-dr—rH(b+2) ’
= (a? - ax)(b+a)+ (bx—2*) (b4 1)
= a%h —abx+a*z—axr 4 bz —1?
=a%+ (a® —ab+ b¥x—ax?—ad

8 1—it5~ 2
1—1+43
1-1+5— 2
—141— 54 2
3— 34+15-6

1-24+9-—-10417--6
st 18- 2084 928 ~ 1028+ 1722 — 620
fids 240—345
1-1
240-34+5
—240-43-5
9—2-3+8-5
g: 2:52"-2_‘3;2""3—- 3ran-t {-8_1.271-5__51291-6.




= 5. II1

9.
10.

11.

12.

13.

14.

15.
16.

17‘

18.

fi2: (a®—ab+3b%(a’+ab—3b?%) =a'—(ab—3b%)*
=t —ahi4 6ab’ — 9bt.
fiR: (243y—22)(x—-3y+22)=2"— By—2)?
L =ar—9y24-12y2 - 422
B (P ray+yitr—y+DE-—y-1)
=[@+zy+ >+ (xz—y)+1]0(z-y)—1]
= tay+y)a—y) — @ tzy+y) +(x—y)i -1
=yt =t —ay~yitzi—2ay+ i1
=28 —y?—3zry—1. :
2 (a®+ 0%+ c%-betca—adb)latb—c)
=[e(a—b+ec)+ (b2 +be+c i[at(b—c)]
=q[a2— (b—c)?)+a(d®+be+c? + (b Fbe+c) (b o)
=8 —ab?+2abc—actt+ubt4abefact+ 03 —c?
= g4+ b3 — 34 abe.
i Be—2y+5)z—4y+6)
;312’—'3X4+2><1)ry+8y2+(3)(6-!-5)( 1z
—(2%64+5x4)y+30
=322 — 14xy+8y2+23x— 32y +30.
f5: @+Ty—32)Rx+y—82)
=R+ (U +14)ay+Ty2— (6 481z — (34 56)yz 4 2422
=234+ 15zy4Ty% - 14xz — H0yz+R42%
fR: (b42)(b—x) (B2 +a?) = (B* —a*)(b*+a®) = L —ah
£ (244 1)(@?2—z+ 1) (ot — 224 1),
= [(at+1)2—2?] [at-22+ 1] = [a* 422+ 1] [2* -2+ 1]
=[(at+1)2—at]) =284t +1.
fi: @+yta—ztyt)e—ytaE+y—2)
=[ly+2)?* -2 [2 -y~ 2)*]
—z2t[(y+2)2+ (y—2)2 % - (23 y—2)?
— T (2202 (- D)
— 2t 4 2yt b 22202 — gt 297 — 2
=y 2y% - 2% - at -yt —2t
M Pta+ 1 WNEZFERR: 1+14+1,14+2434241,
14346474643 +1 K 1444+104-16419416410
+441.
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20.

21

23.
24.

B¢ 3 § 312 X h ek, #:
1 -
11
121
1331
1464
151010 1
1615201561
17213532171
1 828 56 70 56 28 8 1
19 36 84 126 1264 36 9 1
1 10 45 120 210 252 210 120 45 10 1
e (dx—3p?%=(4x)2+ 24m)(— Sy + (—3p)?
=16z —24zy+ 94>
(ke —3y)®
= (42)® 4 3(42)2(~ 3y) + 3(4x) (— 39)2 + (— 3y)*
=642 — 14423y +108xy% — 2743
B (o 2432 - 4w =[(z+2y) + Bz —4u) ?
=(z+2y) 2+ 2(x+2y) (32 ~ du)+ (3z — 4u)?
=22+ 4day4 4y +6x2 4+ 12yz —8xu—~ léyu
+ 9,2 — 24zu 4 16u2,
R (424320 =[(z+2y +32]°
= (423 +3(x+ 22 32) +3(x+2y)(32)% + (32)*
=284 32%(2y) + 32 Ry)* + (2y)*+ 3 (= + dxy + 447 (32)
+3(x+42y)(92%) + 2723
=28 4622y 41228 + 8y3 + 922 + 36ry2 + 367
4-27x2% + 54yz* + 2725
(x+42y—32)  =[(x+2y) —32]°
= (zr+2y)%— 3(z+2)?(32) + 3(x + 2) (32)% — (32)®
= 184622y 122yt - 8y% — Y222 — 361yz — 36y%2
+ 27x224 54yz? — 272°.
B2: (a+20)H@- 20)%-= {a®— 4B 2 =qt - Ba2b? 4 16DV,
B HRFE Y FA R 2T+ 19=46 K 46 —29=17.
e 2*° ZARBLHS @obir+ @byt oo ver + arehy + Qyqboe

1
5
5
2
6
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26.

21. M

23. M

H 46—15=31 ) 31-19=12.

e 2t ZARBUB d19bietaysbigt oerese Fagyby.

2® ZHB R H—8)+3(=3)+4X2+(—T)(-1)

F2%34(—5)0=—16—90484+74+6+0=—4.

2® ZHRBAR 0(—8)+0x3+2x24(-3)(—-1)

F4%04(—=T)34+2X04+(—50=0+044+3+40

—21404-0= —14.

2 ZHEBB A(-8)+(—13+0x242(—1)

4 (—5)%0=—32—214+0—24+0=—55.

L +y+2)®-(*+y+29)

, =z )43z +y)i 432 e+ +t—2t—y —Z'
= 3xy(z+y) + 3z @+ y)*+32%(z+ )
=3(z+y) [zy +2(x+y) +2*)
=3(r+y)(y+2)(z+2)-

9. (a2+62)(x2+y2) =a212+ b2y1+b222+02y2
= a?12 4 2abxy 4 b2y% 4 b*x%—abry +a’y?

= (ax+by)*+ (br —ay)>.

3. (a®—b%H)(x?—y?%) =a%2?+ bzy — 532 — q%y?
= a3z 4 2abxy + 63y? — b*22 — 2abxy — o®y?
= (az+ by)* — (bz+ay)?

& (a4d+c)P=at+3a*(04c)+3a(b+c)i 4 (b+c)®
=a3+3a3(b+4c) +3ab24 6abc43ac*+ b*

+ 3b%+3bc ¢
=a®+ b8t 34 3a(b+c)+ 303 a+0)
+ 3c3(a-}b) - 6abc.

(2a%z8y")5 = 3210725y%

(— 2598287 = — 739y58,83,

(azbnca):h ahbzmncsn

(amblc2n)5_aﬂub»z 2,.

{ — ab®c®) (abb)(— ac‘)‘s =(— a3 (a®b%)(~ a’c”)

— q12ptcls,

(— 2z%y%)3(azx yn)z: (— 88y3%) (dleoyzz)

= — BaZalfy?e,

g8 B 1v




R 5 x & B & R

10.
11

B W=

£
fig:
Bt
ﬁ#

fi2:
. 4

%

fR:

i

5

.

FEA®I0EF

15a3bc%/106b%® =3a/2b.
75 ~2y4310/— 100022 = — 31/42/4(135.
—35zmym /28xmym¥s = — 5™ [ 4y,
—54{(ab? %}/ — 18 {a(b2c)2} %
R4a"’b2“c5/ 18a®b'4c%=3a"6¢ /c.
2ly—ayd  aylr—y) _ xy
Z=y*  @-y)Et+y) T+
(22— 25 (2047
@—y) @ - zy+ 1P
@@ tay+ ) w0 - ay+y?)
(x -y (@®—ay+y?)
= (z+yN (22 +ay+ 7).
(a—8&)2(b—c)¥ > —ait
(b—a) (c—b)Xa—c)?
_ (@a—b)2(b—r¥¥(c—a)t
T —(@-b(—c*[—(c—a)]
=(a—=b)(b--c)(e—a).
30a253:% — 25a3b%c5 4 20a%hicT
—5ab%®
= — 6abc+ Ha2c® — 4a3b2ch.
3y—z)t =2y’ +5z—y)?
(y—ax)?
=93z —y)* - 2z—-y)+5]
: (z—y)?
=3(x—-y?-2(z—-y)+5.
4a” X (3ab®c?)% = (abc)® = 6be
=4a" X 9a%b%* +~ 02b2c% <~ 6bc = €aTb%.
(1) a"+{a® (e -~ 2*X a) X (a* X a = a¥}
=a"+ {a® +a®xa?}
=al -at=gb,
(2) a'+ {a%+ (ot -a?X @) X (a® R a+a?)}

=a'+ [@® el xaltaxalxa-ad




